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(a)Zﬁ%x<y
(b)AG x>y
QT x >y
@ACx <y
() TfG x = y a1 IS Tramy —IT &Y fobarm o Febelt

QL (i) x*+16x-192=0
(i) y* - 20y +96 =0
L1Difficulty 3

QTagsQuadratic Inequalities
QCreatorDeepak Rohilla

Q2. (i)8x+3y=7
(i) 4x +9y =8.5
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Q3. (i) 6x*-17x+12=0
(i) 12y* - 17y +6=0
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Q4. (i)5x*+59x+44=0
(ii) 2y?* + 13y + 15=0
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Q5. () x*-36x+315=0
(i) y?-23y+120=0
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Directions (6-10): FafRad st # verare® g (7) & M WR &1 HH STTT-



Q6.302 x 15 -12 x 260 +/? = (11)3 + (9)?
(@)1

(b)9

(c) 4

(d) 16

(e) 25
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Q7.700 ®T 35% + 256 DT 25% =7
(a) 229

(b) 320

(c) 309

(d) 302

(e) 216
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1 2 1

= z - =?
Q8.128f + 55 +43 :
e
(b) Zlg
(c 21—33
N
() 5
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Q9.1024 + 128 + 350 &1 34% = (?)2 +90 + 15
(a) 10

(b) 12

(c)8

(d) 5

(e) 11
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Q10.5—=x 338+ =73 x 32
(a) 1331
(b) 1345
(c) 1290



(d) 1156

(e) 1225
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(a)tl'%x>y

(b) TfE x>y

(c) Tfe x<y

(d) e x <y

(e) M x =y T x 3R y & A T~ VMG &1 foan o et

Q11. L. x2—8+/3x+45=0

IL y2—/2y—24=0
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Q12.1. 12x2—17x+6=0
II. 20y2—31y+12=0
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Q13.1.35x2-53x4+20=0
IL. 56y2—97y+42=0
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Q14.1.x2=5x—14 =0
IL y24+7y+10=0
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Q15. I.14x> + 11x—15=0
lI.ZOy2 —31ly+12=0
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Solutions

S1. Ans.(d)



Sol.
(i) x% + 16x - 192 = 0
x> +24x-8x-192=0

x=-24,8

(i) y* - 20y +96 =0
y?-8y-12y+96 =0

y=8,12
-'-y2X

S2. Ans.(a)

Sol.

(i) 8x+3y=7

(i) 4x +9y =8.5
Solving (i) and (ii)

.’.y>X

S3. Ans.(b)

Sol.
(i)6x*-17x+12=0
6x*-8x-9x+12=0

(i) 12y*-17y +6=0
12y*-8y-9y+6=0

.'.X>y

S4. Ans.(e)

Sol.

(i) 5x* +59x +44 =0
5x* +4x + 55x + 44 =0

x(x+24)—-8(x+24)=0
(x+24)(x—-8)=0

yly—8)—12(y —8) =0
y-8)(y—-12)=0

2x(3x —4)—-3Bx—4)=0
2x—-3)B3x—-4)=0
34

X=313

4y(3y—2)—33By—-2)=0
(4y — 3)(3)2/ —32) =0

V=33

x(5x+4)+11(5x+4)=0
(x+11)(x+4)=0



x=—,-11

(ii) 2y* + 13y +15=0
2y*+3y+10y+15=0
y2y+3)+5QR2y+3)=0
2y +3)(y+5)=0
-3
y_ 2 ) 5
~ No relation

S5. Ans.(c)
Sol.
(i) x*-36x+315=0
x?-15x-21x+315=0
x(x—15)—-21(x—15)=0
(x—-21)(x—-15)=0
x=15,21
(i) y*-23y +120=0
y2—8y—15y+120=0
y(y—8)—-15(y -8) =0
-8 —-15)=0
y=8,15
LX2Y

S6. Ans.(c)
Sol.

302 X 15 — 12 x 260 +V? = (11)3 + (9)2
4530 — 3120 + V7= 1331 4 81

V?=1331—4530 + 3120 + 81
7=4

S7. Ans.(c)
Sol.

35 X 700 + 25 X 256 =?
100 100 o

?7=64 + 245
?7=309

S8. Ans.(a)

Sol.

7 N 27 N 13 .

35 3
7_35+81+65 181

15 15




S9. Ans.(e)

Sol.

1024 + 34 350 =?2490 = 15
—+—X =7 -
128 100

7?=8417X7—-6

7=11

S10. Ans.(b)

Sol.

67 X 338+7= 73 x 32

13 T

?7=343 X9 —67 X 26
?7=3087 — 1742
?7=1345

S11. Ans.(e)
Sol.

x2 —5v3x —3V/3x +45 =0
x(x—S\/g)—S\/g(x—S\E) =0
x = 3V3,5V3
y2 — 42y + 3V2y — 24 =0
y(y—4\/§)+3\/§(y—4\/§) =0

y = 42,-3V2
No relation can be established.
S12. Ans.(d)
Sol.
12x> —8x—9x+6=0
4x(3x—2)—3(Bx—-2)=0
23
*=3%
20y?2 — 15y — 16y +12 =0
5y(4y —3) —4(4y—-3)=0
B 4 3
Y=%5%
X<y
S13. Ans. (c)

Sol. 35x% —25x —28x +20 =0
5x(7x —5)—4(7x—-5)=0
4 5
*=57
56y2 — 49y — 48y + 42 = 0
7y(8y —7)—6(8y—7) =0



S14. Ans. (b)
Sol. x2—7x+2x—14=0
x(x—7)+2(x—-7)=0

x=7-2
y2+5y+2y+10=0
y=-2,-5
X2y
S15. Ans.(c)
Sol.
I 14x2+11x—15=0 I.20y? —31y+12=0

14x* +21x —10x —15=0( 20y2—15y — 16y +12 =0
7x(2x+3)—-52x+3)=0 Sy(4y —3) —4(4y —3) =0

(7x =5)(2x +3) (5y — 4)(4y — 3)
=35 43
X=—,5 y==2
27 5’4

y>x



